



Proporties of z- transform :-

i) linearity:-

If 
$$x_1(n) \stackrel{ZT}{\longleftrightarrow} x_1(z)$$
,  $x_2(n) \stackrel{ZT}{\longleftrightarrow} x_2(z)$  than

 $ax_1(n) + bx_2(n) \stackrel{ZT}{\longleftrightarrow} ax_1(z) + bx_2(z)$ 

$$X(x) = \sum_{n=-\infty}^{\infty} x(n) x^{-n}$$

$$= \sum_{n=-\infty}^{\infty} [ax_{1}(n) + bx_{2}(n)] z^{-n}$$

$$= \sum_{n=-\infty}^{\infty} x_{1}(n) x^{-n} + b \sum_{n=-\infty}^{\infty} x_{2}(n) x^{-n}$$

$$= ax_{1}(x) + bx_{2}(x)$$

2) Time shifting (on) Translation Property:-

If 
$$x(0) \stackrel{ZT}{\rightleftharpoons} x(z)$$
 then  $x(0+k) \stackrel{ZT}{\rightleftharpoons} x^{-k} x(z)$ 

$$x(z) = \sum_{n=-\infty}^{\infty} x(n) z^{-n}$$

$$= \sum_{n=-\infty}^{\infty} x(n-k) z^{-n}$$

$$= \sum_{n=-\infty}^{\infty} x(m) z^{-n}$$

If 
$$x(n) \leftrightarrow x(z)$$
 then  $a^n x(n) \leftrightarrow x(a^{-1}z)$ 

$$x(z) = \sum_{n=-P}^{\infty} x(n) z^{-n}$$

$$= \sum_{n=-P}^{\infty} a^{n} x(n) z^{-n}$$

$$= \sum_{n=-P}^{\infty} x(n) (a^{-1}z)^{-n}$$

$$= \sum_{n=-P}^{\infty} x(n) (a^{-1}z)^{-n}$$

$$= x(a^{-1}z)$$

If 
$$x(m) \leftrightarrow x(z)$$
 then  $x(-m) \leftrightarrow x(z^{-1})$ 

$$x(x) = \sum_{n=-\infty}^{\infty} x(n) x^{-n}$$

$$= \sum_{n=-\infty}^{\infty} x(n) x^{-n}$$

$$m = -n = \frac{\infty}{2} \propto (m) \left[ \frac{1}{2} \right]^m$$

$$= \chi \left( x^{-1} \right)$$

If  $x(y) \leftrightarrow x(y)$  then  $x(y) * h(y) \leftrightarrow x(z) H(z)$ Definition :-

$$x(m) * h(m) = \sum_{k=-\infty}^{\infty} x(k) h(m-k)$$

$$x(x) = \sum_{h=-\infty}^{\infty} x(h) z^{-h}$$

$$= \sum_{h=-\infty}^{\infty} \left[ x(h) * h(h) \right] z^{-h}$$

$$= \sum_{h=-\infty}^{\infty} x(k) h(h-k) z^{-n+k-k}$$

$$= \sum_{h=-\infty}^{\infty} x(k) h(h-k) z^{-n+k-k}$$



$$N-K = M$$

If 
$$x(0) \Leftrightarrow x(z)$$
 then  $x_k(0) \Leftrightarrow x(n/k)$ 

$$X(x) = \sum_{n=-\infty}^{N=-\infty} x(n) x_{-n}$$

$$=\sum_{k=-\infty}^{\infty} x(k)(x_k)^{-k}$$

$$= X(z^k)$$

If 
$$x(y) \iff x(z)$$
 then  $x^*(y) \iff x^*(z^*)$ 

$$\chi(z) = \sum_{n=-\infty}^{\infty} \chi(n) z^{-n}$$

$$= \begin{bmatrix} \infty \\ \sum_{n=-n}^{\infty} \chi(n) (z^{*})^{-n} \end{bmatrix}^{*} \Rightarrow \left[ \chi(z^{*}) \right]^{*}$$

$$= x^*(z)$$

(1-x) /



If 
$$x(n) \leftrightarrow x(z)$$
 then  $n \times (n) \overset{ZT}{\longleftrightarrow} -z \overset{d}{\lor}_{Z} \times (z)$ 

$$X(x) = \sum_{N=-P}^{\infty} x(N) x^{N}$$

$$= \sum_{N=-P}^{\infty} h x(N) x^{N}$$

Differentiating:

Differentiating:
$$\frac{dz}{dz} \times (z) = z \sum_{n=-\infty}^{\infty} h x(n) \frac{z^{-(n+1)}}{-(n+1)}$$

$$= z \sum_{n=-\infty}^{\infty} x(n) \left[ nz^{-(n+1)} \right]$$

$$= z \sum_{n=-\infty}^{\infty} x(n) - d z^{-n}$$

$$= z \sum_{n=-\infty}^{\infty} x(n) - d z^{-n}$$

$$= -z d d z n = -\alpha$$

$$= -z d d z \times (z)$$

9) Ponseval's Relation:

) Ponseval's Kerahon:

Let us consider two complex valued sequences 
$$x_1(m) \notin x_2(m)$$
. Pouseval's relation states that  $x_1(m) \notin x_2(m) = \frac{1}{2\pi i} \oint_C x_1(n) \times_2^* \left(\frac{1}{1+n}\right) v' dv$ 
 $x_1(m) \times_2^* \left(\frac{1}{1+n}\right) v' dv$ 
 $x_2 = x_1(m) \times_2^* \left(\frac{1}{1+n}\right) v' dv$ 
 $x_2 = x_1(m) \times_2^* \left(\frac{1}{1+n}\right) v' dv$ 
 $x_1(m) \times_2^* \left(\frac{1}{1+n}\right) v' dv$ 
 $x_2 = x_1(m) \times_2^* \left(\frac{1}{1+n}\right) v' dv$ 





By using complex convolution Theorem

$$= \frac{1}{2\pi i} \oint_{C} x_{i}(v) x_{2}^{*} \left(\frac{z^{*}}{v^{*}}\right) v^{-1} dv$$
Sub  $z^{*} = 1$ 

$$= \frac{1}{2\pi i} \oint_{C} x_{i}(v) x_{2}^{*} \left(\frac{1}{v^{*}}\right) v^{-1} dv$$